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Pb=—=03 « P3=—=04 « Pp=-—
112 = 1000 X 5000 = 5000000
714 = 1000 x 5000 = 5000000

75, = 1100 x 5000 = 5500000 7, = 1000 X
754 = 1100 x 5000 = 5500000

75, = 1000 x

73, = 1100 X
734 = 1200 x 5000 = 6000000

741 = 1000 X

742 = 1100 X

7,4 = 1300 X 5000 = 6500000 745 = 1200 X
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r, = 1000 x 5000 = 5000000
r5 = 1000 x 5000 = 5000000
5000 — 100 x 7500 = 4250000
7,2 = 1100 x 5000 = 5500000
5000 — 200 x 7500 = 3500000
5000 — 100 x 7500 = 4750000
133 = 1200 x 5000 = 6000000
5000 — 300 x 7500 = 2750000
5000 — 200 x 7500 = 4000000
5000 — 100 x 7500 = 5250000
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PL=01 P,=0,2 P; =04 P,=03
das 1000 4slday 5000000 5000000 5000000 5000000
dan 1100 delaa, 4250000 5500000 5500000 5500000
dan 1200 aclilaq 3500000 4750000 6000000 6000000
daa 1300 deldaay 2750000 4000000 5250000 6500000




